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QUESTION 1

Which three migration options are available when you migrate a database from the Big Endian format system to
Exadata?

A. Data Pump Export and Import
B. transportable database

C. transportable tablespaces

D. Data Guard

E. Insert as Select

Correct Answer: BCD

QUESTION 2

Exadata Database Machine offers an Intelligent Platform Management Interface for the various components in the
Exadata product. Which option is true?

A. IPMI can be used to remotely start and stop servers.

B. IPMI can be used to remotely log in to the operating system.

C. IPMI commands can be executed by using SNMP traps.

D. IPMI settings can be secured by backing up the Oracle Linux installation on the storage system.

Correct Answer: A

QUESTION 3

Consider this CellCLI command:

CellCLI> CREATE GRIDDISK ALL HARDDISK PREFIX=data, size=423G;

Which two statements describe what happens when you execute this command?
A. It creates one 423 GB grid disk on the first available cell hard disk.

B. It creates one 423 GB grid disk on each available cell hard disk.

C. It creates grid disks on the outermost 423 GB that is available on each hard disk.
D. It creates grid disks on the innermost 423 GB that is available on each hard disk.
E. It creates an Exadata Smart Flash Cache on all flash drives.

Correct Answer: BC
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QUESTION 4

A control file tracks the physical components of a database. It is the root file that the database uses to find all the other

files used by the database. Because of the importance of the control file, Oracle recommends that the control file be
?

A. size constrained, to prevent size overruns

B. multiplexed, or have multiple identical copies

C. stored on an HA USB Drive, to ensure that it does not get overwritten
D. managed by EM12c, to ensure proper maintenance

Correct Answer: D

QUESTION 5

Your customer wants to increase the size of the DATA diskgroup on the Exadata systems. The customer is currently
using 600 GB disks. Which two are the best options that you would recommend?

A. adding a High Capacity Storage expansion rack

B. expanding the Exadata rack from a Half Rack to a Full Rack

C. moving underutilized grid disks from the RECO diskgroup to DATA
D. adding a ZFS storage appliance

E. adding a High Performance Storage expansion rack

Correct Answer: AB
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